|FA0223|.

T R BI0J4E 45 7 18 B B 45 b B e

(BRI 15+H)

53”%@f ?H%ﬂﬂ’—fﬁmﬁf&@hﬁm‘ﬁ")lTﬁli‘é‘ﬂﬂl
K 4Alrz~wriay f
P\ s
) i % % (3-9999- tio
([ TEEEE £ 5 (037999979999 % g fg 03-7777-T777
12345678
A H _ .
i % A = (B 1A e =11 21713 1[H)
H 4 oo el H 4 B/ OTF DM IE, EPARNTLEE L,
i s (ol 1/8/2/6 6000 (3) >
W (n)
& ';#ré Fl ﬁ @ 0 (14)
N = _
o O oo g N & |G 0 15)
@ 1826600 0|x (16)
B A A ) 1274000 = o oo g # | 2804000
E=
= & B B e 748200 3 (18) 9906200
e % @ 360000 = 3 4 #m @W-08 |w 8359800
T S - B S K 4 720000 @« =% #% & | 0
A & Fl T |0 0 @?i?ﬁg’%? (19)-(20) |en 8359800
E 655 X105 M
1"\ —a P ey (0) H @ EE ﬁlél: 1 ONThD (22>
# 1 0l & Tt (Govonrrn)
T 0|7 # & #= @D-2 |= 8359800
) L% 2 MET DD
mL-AaEOR T OHE




N W R [BIOJ4E 4> |FA 0 2 28|.

70 AT i KR
SR EAmmea 1123/456 7.8
OFBEFHDOIADAR
'EE 5 %A by R = £ $ o X A & H kR E &
BO|R |TED R B E o BT OE H|E A0 ER - K4 wRE®E & = R o R EFRAW &
= EEHL — — & L
- % o 3| sson E‘* A E #H = B o|w & w0 M| (BmERES)
e | TORAHER S G50 1 A10M1 | SO HFEREHEBOTHI0E LS |1 H20% 11 F Tt o o " . N
7 |rrver [wmem | R o i il el L 66.0 120, 000 1, 440, 000 50, 000 120, 000
N R L R AITE P AI0E | KR AF KA LERIT HI0ELLS (5 1L30- 2 66.0 120, 000 1, 440,000 50, 000 120, 000
Bolooosy lpem | feassanmse Aof | ORRERENGRT 0B |1 H30- 1 66.0 120, 000 1,440, 000 50,000 120, 000
B#‘- 52 [l 5 = L
B |vvvay ey | BFPAREEGSIA0F | AABBTCEHLEITHIORIS T 10 6 66.0 120,000 1,110, 000 50, 000 120, 000
vrvay e | POORERARSRITHOE | ARE X EIEET RIORLLS (3 1L2e - 10 66. 0 120, 000 1, 440, 000 50, 000 120, 000
vy e | FEERERRGEGE TAOR | SR EHERT HIGELLE (1 128 10 66.0 120, 000 1, 440, 000 50, 000 120, 000
NN . OB EXEREEIT HI0EL | HAEHM X mIESIT H10%FLIL7 [H IL29- 10
evvay el | PR # BRI EmERL 72 29 10 66.0 120, 000 1, 440, 000 50, 000 120, 000
_ o I 0 | FLOTL | S AURBRLE (<7 2 e 29 -
vyvvay g | EAREEARSE TR0RL | LS BRERENBEITRIOEUS (1 H e 10 66.0 120, 000 1, 440, 000 50, 000 120, 000
IS P AR S ALER | B 0F| | AU K IIGHO T HL0KI1% | 1129+ 10
cvvay |feEH | FEEAENANGS ER ARG g [L29- 10 66.0 120, 000 1, 440, 000 50, 000 120, 000
vvvsy e | EPAERRAREE TAORL | ERE R MELED IR0 2 10 66. 0 120, 000 1, 440, 000 50, 000 120, 000
vviay | {EEH s g | A S T HELS oot 1 50.0 82, 000 981, 000 50, 000 82, 000
vrvay el | SEmEEK e T A& | IR RS T 2L oodkgee 1 50.0 82,000 984, 000 50, 000 82, 000
vy [fEEM | domEER e Taek s | THELS 0 f29- 10 50.0 82,000 984, 000 50, 000 82, 000
vrvay el | REEEKE TR2E1 S | RS T 2L oolhaee 1 50.0 82, 000 984, 000 50, 000 82,000
wvvay [EEM | dormiEkEs oo s | AREEEREET RS 0 fi29- 10 50.0 82,000 984, 000 50, 000 82, 000
2 19, 320, 000 750, 000 1,610,000
OfaBHE 2D HNR
- s mE = T —= B W BRECERG
A % &% B ® & [ & 5 | 4 il | P S B oD IR IR O B AR
4 H 1 5] 5} =]
; EEEN
OHEUE A5 DR
- e e nlE = T T B P ARECERGT
o AEon| # B | 5 0 il | BT RO TR SR U FLAE o
L =] =] =]




OB MiEH1E D E

(BRTSHHA+11SH)

HEEREE R | e D) () & i |l Oy (=) ER) (~) (K) =) | (V) (%)
- : . - " | AER K E S5 o BN | R E S 0|E NAESOLE | REHNES| L.
R TR M ORRAOR® | o R 18 0 % & 3 % A B i *
wenmenn BB \F A (HREE) 1K 8 2 & 8|7 BT R |8 B @XOXE |8 8 %) @)+ () [E A () X (F) |[(BERS)
il EP 80, 000, 000 " " ® 12 A A " m m =
e Lokt 4 e 80, 000, 000 | 4L | 0.0 - 2, 720, 000 0 2,720,000 | 100. 00 2,720, 000 68, 280, 000
Ao a— b Lo H29 4 ( 100, 000, OOO) 100, 000, 000 | E4EIR 50| 0.020 i 2, 000, 000 0 2,000,000 | 100.00 2,000, 000 93, 000, 000
( ) 12
( ) 12
( ) 12
( ) 12
( ) 12
( ) 12
( ) 12
( ) ED)
( ) 12
< ) B I R R |
z 4, 720, 000 0 4,720,000 4,720, 000 161, 280, 000
OHRZFE DR OfEANEF]TOWNGR (ki 25k <)
NE—— = AEFOEE | EOSENDIH U HMAEBRTEOE IR F F OEDI HLLE
ko ER - KA (B EY R enes reaeE A X MR o EF - R A GG em A e R 7 EE R AR
5] H 2] H 2]
"
OFiFL L - FETZEOHR - BHE&DOFER
H N AR E O WIED D B B PR OE B
XAk 0T KB G g R A R
2] 2] 2]




(BRTSHHA+134)

OARLEIZEBIT DRERFN - RiEe

FOE R

= i xf e *z (G A ER)
(A 30 £ 12 A 31 ABRTE)
& 5 % 5 B & & &£ o #®

s = 1 A 1 B 12 A 31 HEHR | & = 1 A 1 B@®) 12 A 31 BEAHR)

B & 200, 000 200,000 | & A & 0" 0

¥ @ W 4 8, 850, 000 22,535,800 | £ # & 0 0

= o Em 4 0 0| wixse - %4 0 606, 000
= O o A & 0 0
2 W OF B 0 0
- 0 0
* I & 0 0
f i E % 0 0
BB & 0 0
% M & 0 0
= # 0 -4, 720, 000
R R 0 0
%= wm 0 0
i i 0 0
TE BE & 0 0
+ H 0 0
o 0 0
SRR BT e 0 0

z oo & & 0 0

% % E 0

oo G E 0 0|l A % 9, 050, 000 9, 050, 000

¥ % = % o pfmEEREE 8, 359, 800

& 7t 9, 050, 000 18,015,800 | & a# | 9, 050, 000 18, 015, 800




